CSE 326 Reading Quiz

Name: ______________________ Score: ____

Monday 7/3/00

Draw a tree with nodes labeled a, b, c, d, e, and f, such that all of the following are true:

1. b is the root; 

2.a is at depth 1; 

3.c and d are siblings; 

4.e is an ancestor of f

5. T/F: All leaves are at height 0 (in any tree)

6.  T/F:  A typical directory in the UNIX file system forms a binary tree.

7. [p.120]: The algorithm for constructing an expression tree most strongly resembles (choose 1)


the algorithm for evaluating postfix


the algorithm for converting infix to postfix

8-9.  Draw a binary search tree with 6 nodes, containing the values 1 through 6, and with 5 at the root.

10. [p.137] Of the BST operations findMax, findMin, insert, and remove, which one is the hardest to implement?

11. [p.139] Describe briefly what is meant by "lazy deletion":

